[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

RARIRES s o o LR AR RN LAAAS RN RARRN RARRN LRRLE RRRLN LRRR

o 3
= -
o]
@ 1.05 ) 4 =115
+
1 +
1 - s e - - |-
0.955 : n
10° 10°
TP vertr (cm
—_— 5 Il\V/i_:TI: E{"i"i'_ll\leé'\/?lmegaut specPlessl
— —— DOM”mKFEIt_TT_NEWdefau|t_specPLess2
Efficienq —— DOM”mKEIt"TT"NEW e;au t~specPless3
—— DOM_mKFIt_TT_NEWdetault_specPLess
N 0.1
© E : : :
%0.09:— """ Pyt Py

4
2 0.08F
>

3]
£ 0.06f-
[}

2 : : :
Al S | S

.......................................

0011 08 1O [ RS SRR S
0.04ft-{[HEL -4
0.03ff (T E || 45 b
0.028fp [ pfpie i
.01 - Fr It k.-

3| ++.+ et

.9 J“GIIII.III IIIIIIIII 1l

z Al I

SR H :

—20  -10

-30

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

10

Ratio

"
-
e
"
e
T

|
N
o
|
[6,]
|
=
o
|
6]

5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


